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Answer all questions in the spaces provided.

 1 Termites are insects.  Some species live in colonies in the soil.  Although most termites
are wingless, winged termites are sometimes produced.  The winged termites fly from
the soil, mate and start new colonies.

   A scientist studied the behaviour of  winged termites.  He divided these termites into
three groups.

   ● Group A had their eyes covered.
   ● Group B had their antennae removed.
   ● Group C was the control group.

   He put individual winged termites on a sloping board that was illuminated from one
side.  The diagram shows the direction of  movement of  a typical termite from each of
the three groups.

 1  (a) (i) What type of  behaviour was shown by the termite from group B?

............................................................................................................................................
(1 mark)

 1  (a) (ii) Give the evidence for your answer.

............................................................................................................................................

............................................................................................................................................
(1 mark)

(02)
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 1  (b) Explain what the results from group A suggest about the factors controlling the
 behaviour of  winged termites.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(3 marks)

(Extra space).......................................................................................................................

............................................................................................................................................

............................................................................................................................................

 1  (c) Suggest one advantage to the termites from group C of  the behaviour shown in the
investigation.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

Turn over for the next question

3
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There are no questions printed on this page
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 2  (a) Complete the table to show the differences between DNA, mRNA and tRNA.

(2 marks)

 2  (b) The diagram shows the bases on one strand of  a piece of  DNA.

 2  (b) (i) In the space below, give the sequence of  bases on the pre-mRNA transcribed from this
strand.

(2 marks)

 2  (b) (ii) In the space below, give the sequence of  bases on the mRNA produced by splicing this
piece of  pre-mRNA.

(1 mark)

5

Turn over �

(05)

5
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Number of
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 3 During an action potential, the permeability of  the cell-surface membrane of  an axon
changes.  The graph shows changes in permeability of  the membrane to sodium ions
(Na+) and to potassium ions (K+) during a single action potential.

 3  (a) Explain the shape of  the curve for sodium ions between 0.5 ms and 0.7 ms.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(3 marks)

(Extra space).......................................................................................................................

............................................................................................................................................

............................................................................................................................................

6

(06)
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 3  (b) During an action potential, the membrane potential rises to +40 mV and then falls.  Use
information from the graph to explain the fall in membrane potential.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(3 marks)

(Extra space).......................................................................................................................

............................................................................................................................................

............................................................................................................................................

 3  (c) After exercise, some ATP is used to re-establish the resting potential in axons.  Explain
how the resting potential is re-established..

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

Turn over for the next question

7

Turn over �
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 4 Scientists investigated control of  ovulation in a species of  mammal.  They measured
the concentration of  some hormones in the blood of  females between January and
June.  The graph shows the results for one animal.

 4  (a) The concentration of  LH in the blood is controlled by negative feedback.  Use the
curves for progesterone and LH to explain how.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(3 marks)

(Extra space) ......................................................................................................................

............................................................................................................................................

............................................................................................................................................

8

(08)
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 4  (b) (i) Explain how the change in progesterone concentration in March shows that ovulation
took place at the time indicated.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 4  (b) (ii) Two pieces of  information from the graph, other than the change in progesterone
 concentration, show that ovulation took place at the time indicated.  Explain how.

1 ..........................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

2 ..........................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(4 marks)

Turn over for the next question

9

Turn over �
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 5 Figure 1 shows part of  a gene that is being transcribed.

Figure 1

 5  (a) Name enzyme X.

............................................................................................................................................
(1 mark)

 5  (b) (i) Oestrogen is a hormone that affects transcription.  It forms a complex with a receptor in
the cytoplasm of  target cells.  Explain how an activated oestrogen receptor affects the
target cell.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 5  (b) (ii) Oestrogen only affects target cells.  Explain why oestrogen does not affect other cells
in the body.

............................................................................................................................................

............................................................................................................................................
(1 mark)

10

(10)

Enzyme XPromoter region of gene

RNA
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 5  (c) Some breast tumours are stimulated to grow by oestrogen.  Tamoxifen is used to treat
these breast tumours.  In the liver, tamoxifen is converted into an active substance
called endoxifen.  

     Figure 2 shows a molecule of  oestrogen and a molecule of  endoxifen.

Figure 2

     Use Figure 2 to suggest how endoxifen reduces the growth rate of  these breast
tumours.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

Turn over for the next question

11

Turn over �
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 6 SCID is a severe inherited disease.  People who are affected have no immunity.
Doctors carried out a trial using gene therapy to treat children with SCID.

   The doctors who carried out the trial obtained stem cells from each child’s umbilical
cord.

 6  (a) Give two characteristic features of  stem cells.

1 ..........................................................................................................................................

............................................................................................................................................

2 ..........................................................................................................................................

............................................................................................................................................
(2 marks)

   The doctors mixed the stem cells with viruses.  The viruses had been genetically
 modified to contain alleles of  a gene producing full immunity.  The doctors then injected
this mixture into the child’s bone marrow.

   The viruses that the doctors used had RNA as their genetic material.  When these
viruses infect cells, they pass their RNA and two viral enzymes into the host cells.

 6  (b) One of  the viral enzymes makes a DNA copy of  the virus RNA.  Name this enzyme.

............................................................................................................................................
(1 mark)

12

(12)
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   The other viral enzyme is called integrase.  Integrase inserts the DNA copy anywhere
in the DNA of  the host cell.  It may even insert the DNA copy in one of  the host cell’s
genes.

 6  (c) (i) The insertion of  the DNA copy in one of  the host cell’s genes may cause the cell to
make a non-functional protein.  Explain how.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 6  (c) (ii) Some of  the children in the trial developed cancer.  How might the insertion of  the DNA
have caused cancer?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 6  (d) Five out of  the 20 children in the trial developed cancer.  Although the cancer was
 treated successfully, the doctors decided to stop the trial in its early stages.  They then
reviewed the situation and decided to continue.  Do you agree with their decision to
continue?  Explain your answer.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

13
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 7 The drawing is a tracing of  a cross-section through skeletal muscle tissue.
   This muscle contains fast muscle fibres and slow muscle fibres.  The section has been

stained to show the distribution of  the enzyme succinate dehydrogenase.  This enzyme
is found in mitochondria.

 7  (a) (i) Succinate dehydrogenase catalyses one of  the reactions in the Krebs cycle.  What is
the evidence from the drawing that muscle fibre S is a slow muscle fibre?  Explain your
answer.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

14

(14)

Muscle fibre S
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 7  (a) (ii) Use evidence from the diagram to describe the distribution of  mitochondria inside the
slow muscle fibres.  Explain the importance of  this distribution.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(3 marks)

(Extra space).......................................................................................................................

............................................................................................................................................

............................................................................................................................................

 7  (b) (i) You could use an optical microscope and a slide of  stained muscle tissue to find the
diameter of  one of  the muscle fibres.  Explain how.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 7  (b) (ii) A student found the mean diameter for the slow muscle fibres in a section.  Give two

precautions that she should have taken when sampling the fibres.  Give a reason for
each precaution.

1 ..........................................................................................................................................

............................................................................................................................................

2 ..........................................................................................................................................

............................................................................................................................................
(2 marks)

15

Turn over �

(15)
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 8  (a) Technicians in a hospital laboratory tested urine and blood samples from a girl with
 diabetes at intervals over a one-year period.  Each time the technicians tested her
urine, they also measured her blood glucose concentration.  Their results are shown in
the graph.

16

(16)

0
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Urine glucose
concentration as colour value 

on a four point scale

Blood glucose
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 8  (a) (i) The girl who took part in this investigation was being successfully treated with insulin.
The graph shows that on some occasions, the concentration of  glucose in her blood
was very high.  Suggest why.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 8  (a) (ii) Use the graph to evaluate the use of  the urine test as a measure of  blood glucose
 concentration.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(3 marks)

(Extra space).......................................................................................................................

............................................................................................................................................

............................................................................................................................................

 8  (b) Diabetic people who do not control their blood glucose concentration may become
unconscious and go into a coma.  A doctor may inject a diabetic person who is in a
coma with glucagon.  Explain how the glucagon would affect the person’s blood
 glucose concentration.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

17

Turn over �

(17)

7
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 9 There are wolves in many European countries.  Scientists investigated the genetic
diversity of  these wolves.  They collected samples of  DNA from the mitochondria of
wolves from different countries.  For each sample they identified which haplotypes were
present in the DNA.  A haplotype is a particular sequence of  bases on DNA.  Mutations
can produce new haplotypes.

   The scientists wanted to find out whether one of  the haplotypes in the Portuguese
wolves was the same as one of  those in the Spanish wolves.  They used a restriction
endonuclease, electrophoresis and a labelled DNA probe.

 9  (a) For what purpose did they use

 9  (a) (i) the restriction endonuclease

............................................................................................................................................

............................................................................................................................................
(1 mark)

 9  (a) (ii) electrophoresis?

............................................................................................................................................

............................................................................................................................................
(1 mark)

 9  (b) Explain why the labelled DNA probe could be used to find out whether the haplotypes
were the same.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

18

(18)

Number of wolves
Number of different

Country
sampled

haplotypes in

mitochondrial DNA

Spain 84 3

Portugal 19 2

Italy 101 1

France 7 1

Bulgaria 29 6

Sweden 93 1
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 9  (c) Two hundred years ago there were many wolves in Italy.  By the 1970s there were
fewer than 100 wolves left.  Since 1980, wolves have increased in number and have
spread to France.

 9  (c) (i) Use this information to explain the number of  haplotypes in the Italian wolves.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 9  (c) (ii) Suggest an explanation for the number of  haplotypes in the wolves that have spread to
France.

............................................................................................................................................

............................................................................................................................................
(1 mark)

 9  (d) The scientists analysed the DNA on the Y chromosome and the DNA in the
 mitochondria of  the Swedish wolves.  They concluded that the Swedish wolf  population
descended from one male wolf  from Finland and one female wolf  from Russia.

 9  (d) (i) Explain why DNA on the Y chromosome helped them to reach this conclusion.

............................................................................................................................................

............................................................................................................................................
(1 mark)

 9  (d) (ii) Suggest why DNA in the mitochondria helped them to reach this conclusion.

............................................................................................................................................

............................................................................................................................................
(1 mark)

Question 9 continues on the next page

19

Turn over �

(19)
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   Wolves eat different mammals.  An ecologist investigated factors that affect wolf
 numbers in North America.  He collected data from different field studies carried out in
different places.  The graph shows his results.

 9  (e) (i) The wolf  numbers are given per unit area.  Explain why.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

20

(20)
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 9  (e) (ii) The ecologist calculated the total prey index for each of  the places that had been
 studied.  In order to do this, he gave each prey species a value based on how much
food was available to wolves from the prey animal concerned.  He called this value the
prey index.

           The ecologist considered that the prey index gave a better idea of  the food available
than the prey biomass in kg.  Suggest why the prey index gives a better idea of  food
available.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

 9  (f) The ecologist calculated the total prey index by combining the prey indices and the total
number of  animals of  each species present in 1000 km2.  He plotted this information on
the graph.

     What does the graph suggest about the factors that determine wolf  numbers in North
America?  Explain your answer.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(2 marks)

Turn over for the next question

21

Turn over �

(21)
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   ESSAY

     You should write your essay in continuous prose.

     Your essay will be marked for its scientific accuracy.  It will also be marked for your selection
of  relevant material from different parts of  the specification and from the  quality of  your
 written communication.

     The maximum number of  marks that can be awarded is

                  Scientific content 16
                  Breadth of  knowledge 3
                  Relevance 3
                  Quality of  written communication 3

10 Write an essay on one of  the following topics.

   EITHER

10  (a) Carbon dioxide may affect organisms directly or indirectly.  Describe and explain these
     effects. (25 marks)

     OR

10  (b) The causes of  disease in humans. (25 marks)

If  you want to make a plan write it here.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

22
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............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
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............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
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............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
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............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
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............................................................................................................................................
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END  OF  QUESTIONS

28

(28)

25Copyright © 2010 AQA and its licensors.  All rights reserved.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Coated FOGRA27 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /None
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /None
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /None
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV <>
    /HUN <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks true
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        14.173230
        14.173230
        14.173230
        14.173230
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


